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::wc:nf AD | FE BD = BC . AD J/ EC |.GIVEN
rove: AABD = AEBC BD ¥ BC
o. LCEB & ¢ DAB 2.8LT.NT, Ls
LECB = LADB
(ALSO £ CRE &/ DBAY (VerricaL £4)
3. AABDY AEBC 3. AAS A
o ASA =
o AAS s
3. Write a two-column proof.
Given: HF || GK, 4F and 2K are right angles
Prove: AHFG = AGKH
, Statements | Reasons
.. HF /[ GK |.GIVEN
LF e ARE RV . LS
. ) L F it U AL e
3.2 KGH 22 FRG 3.ALT. INT. LS
£ FGH £ 2 KkHG
4. Ha A0S . REFL. PROP. &
5. ASA =
5. AHFG ¥ AGKH Shes
4. Write a two-column proof. Statements | _ Reasons
Given: the diagram — _—
Prove: ARST = AVUT I.RS Z Vu . GIVeN
LRST £ 4LVUT
|
A- LRTS 2 LNVNTU |9- VEET. (5=

3 ARST & AVUT 3. AAS &




	5.6 p1
	5.6 p2

